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B.A. Sem.-111
CC-202 : English (Form of Literature : Comedy)
Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Attempt all questions.
(2) Figures to the right indicate full marks of questions.

1. (a) Define Drama and bring out the difference between two major forms of Dramatic
Art. 10

OR
Write a note on the Structure of the Play.
(b) Define Comedy and discuss its various features. 10
OR
Write a note on any one :
(i) Romantic Comedy
(i) Sentimental Comedy
(iii) Chaucer, as a comic writer

(iv) Muystery and Miracle Plays

2.  (a) Discuss Shaw’s views on war, love and marriage as expressed in Arms and the
Man. 10

OR
Evaluate Arms and the Man as an anti-romantic comedy.
(b) Show your acquaintance with any two of the following : 10
(1) A Midsummer Night’s Dream
(i)  The Way of the World
(iii) Pygmalion
(iv) The Birthday Party
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3. ()

(b)
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Write short notes on any two of the following : 10
()  Bluntschli

(i)  The difference between Romance and Realism.

(iii) Comedy of Manners

(iv) Farce

Answer any five of the following briefly : 10
(i) Explain why the drama is called a composite art.

(i) What was the function of the Chorus in Greek Tragedy ?

(iii) Who popularized the comedy of humour ?

(iv) What reason does Bernard Shaw attribute for Raina and Sergius being
romantic ?

(v) Write briefly on the character of Louka.
(vi) Which thing in the intruder surprises Raina ?
(vii) What was the purpose of comedy ?

(vii) Who is the greatest English master of comedy in the novel ?

Write the correct answer, choosing from the given options for each of the

following : 6
(1) The Elizabethan drama was divided into _ acts.

(@ two (b) six

(c) five (d) four
(2) The purpose of comedy was to

(@) bore (b) hate

(c) correct manners (d) teach

(3) Which of the following writer is known for Comedy of Humours ?

(@ Dryden (b) BenJonson
(c) Oscar Wilde (d) Shakespeare
(4) The opening act of “Arms and the Man” takes place in the
(a) Battle-field (b) Raina’s bedroom
(c) Market place (d) Garden
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(b)
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(5) Who does Sergius eventually marry ?

(@ Raina (b) Catherine
() Louka (d) None
(6) The latest genre to evolve in comedy is knownas __ comedy.
(@ Modern (b) Sentimental
(c) Black (d) Classical
Match the following :
A B
(i) The Shoemaker’s Holiday Harold Pinter
(i) The Rivals Thomas Dekker

(iii) As You Like It
(iv) The Brithday Party

Comedy of Manners

Romantic Comedy
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